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Time allowed — 90 minutes

DIRECTIONS TO CANDIDATES
» Attempt ALL questions.

+ All necessary working should be shown in every question. Marks may be deducted for
careless or badly arranged work.

e Board-approved calculators may be used.

 Start each question on a new sheet of paper.
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Question 1 (16 marks)

V34+5.9

(a) Find ————— correct to 3 decimal places.
21-4.7

(b) Evaluate 3 / 703'21 correct to 2 significant figures.

(©) Write 0.01072 in scientific notation.
(d) Fully simplify +/245 .

(e) If 12 —+/3 = xy/3 , find the value of x.

1 1
® Which of the following ﬂ,«/f,—\/g,x/g,fl ,52,8 3
are rational numbers.

(g) Express the following as a fraction in simplest form.
(i) 0.384

(i) 6.247
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Question 2 (24 marks)

(a)  Simplify.

() V50 -+32
(i) 243 +~/27 —+/243

(i) 2 x ov10 26410
35

(b) Expand and simplify.

(i) 44336 +2412)
(i) (532 -3)?

(©) Express with a rational denominator.

3
()\/—

L 4
(if) ]

(ii1) W2
35 |

(iv )7I 1
75 +1
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Question 3 (22 marks)

(2)

(b)

Expand and simplify

2

Q) - 3a2[2a - b—j —5a(p® +3a)
(i) 3"~ 2><3y2a+ 2)

(iii) (x + 2)(x” — 2x + 4)

(iv)(x + 2)(x — 4)

Factorise.
(1) 4m* - 25

(i) x* —4xy—60y°
(i) 2y* +11y —21
(iv)r’ =27

(v) 4—16a*

Question 4 (19 marks)

(2)

(b)

Simplify
L Cc cC
1 ———

® 4 6

1 1

(i)

x—2—x

2 X
+

x+3 x-2

(iii)

Simplify

N 1=x
() ——

X

x> +4x* —4x—-16
x* +6x+8

(i)

2 4 74
(iii)a +b . a’ —b

a+b a’ +2ab+b*
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Question 5 (20 marks)
(a) Solve
()  28=12x-5x
() (x-1D@x+3)=0

9 3
11 —=4—-—
i 2x X
(v) 4x*+4x—15=0

(b) Complete the following
x2l6x+..=(x+...)

(c) Solve by completing the square
x* +4x=1

(d) Solve by using the quadratic formula
27 +4x-7=0

Question 6 (18 marks)

(a) Solve the following
(i) -2x<4

(i) ZX < x+2
3
(iii) [4x +3| =15

x+1

(iv) >6

(b) Solve simultaneously
o x+2y=10
@ _
x—-y=1
CS5x+2y=11
i
x—5y=13

e Y=
111
i) )
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